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CE Amplifier with active load

.model modl npn (bf=180 is=100f nf=1.2 wva=80)
.model mod2 pnp (bf=180 is=10C0f nf=1.2 wva=40)

-MODEL Q2N3904 NPN (Is=6.734f Xti=3 Eg=1.11 vaf=74.03 Bf=416.4 Ne=1.259

+ Ise=6.734f Tkf=66.78m Xtb=1.5 Br=.7371 Nc=2 Isc=0 Tkr=0 Rc=1l

+ Cjec=3.638p Mjc=.3085 Vijc=.75 Fc=.5 Cje=4.493p Mje=.2593 Vie=.75

+ Tr=239.5n Tf=301.2p Itf=.4 Vtf=4 Xtf=2 Rb=10)

.MODEL Q2N3506 PNP ((Is=1.41f Xti=3 Eg=1.11 vaf=18.7 Bf=180.7 Ne=1.5 Isge=0
+ Ikf=80m Xtb=1.5 Br=4.977 Nc=2 Isc=0 Ikr=0 Rc=2.5 Cjc=9.728p

+ Mjc=.5776 Vijc=.75 Fc=.5 Cje=8.063p Mje=.3677 Vie=.75 Tr=33.42n

+ Tf=179.3p Itf=.4 Vtf=4 Xtf=6 Rb=10)

Vee 1 0 de 10

*To 1 2 dc Im

Rb 9 0 B8k

kel 1 8 330

Re2 1 10 330

g2 9 9 8 g2n39%0s6
a3 2 9 10 g2n3906
Ve 5 0 de 0 ac 1 gin{0,1.85m,1k)
rs 5 6 50

cs 6 3 4.7u

co 2 7 1lu

rGC 7 0 100k

rf 2 3 560k

gl 2 3 0 g2n3904

.opt probe post=1

.op

.ac dec 20 10 10meg

.tran 4u 4m 2m

.four 1k v (7)

.print tran v{(2) v(3) v(7)
.print ac wvm(7) vp(7)
.end




CE Amplifier with active Load
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